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b) 133|11𝑛𝑛+2 + 122𝑛𝑛+1 

1) 𝑎𝑎0 = 112 + 12 = 121 + 12 = 133 

133|11𝑛𝑛+2 + 122𝑛𝑛+1  (𝑇𝑇) 

2) 133|11(𝑛𝑛+1)+2 + 122(𝑛𝑛+1)+1 

11𝑛𝑛+3 + 122𝑛𝑛+3 = 11𝑛𝑛+2 ∙ 11 + 122𝑛𝑛+1 ∙ 144 = 11 ∙ (11𝑛𝑛+2 + 122𝑛𝑛+1)�������������
𝑎𝑎𝑎𝑎

+ 133 ∙ 122𝑛𝑛+1���������
𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑 𝑠𝑠𝑠𝑠 133

 

 

g) 17|62𝑛𝑛 + 19𝑛𝑛 − 2𝑛𝑛+1 

1) 𝑎𝑎0 = 60 + 190 − 21 = 1 + 1 − 2 = 0 

17|62𝑛𝑛 + 19𝑛𝑛 − 2𝑛𝑛+1   (𝑇𝑇) 

2) 17|62(𝑛𝑛+1) + 19(𝑛𝑛+1) − 2𝑛𝑛+2 

62𝑛𝑛+2 + 19𝑛𝑛+1 − 2𝑛𝑛+2 = 62𝑛𝑛 ∙ 36 + 19𝑛𝑛 ∙ 19 − 2𝑛𝑛+1 ∙ 2 = 

= 2 ∙ (62𝑛𝑛 + 19𝑛𝑛 − 2𝑛𝑛+1)�������������
𝑎𝑎𝑎𝑎

+ 17 ∙ 2 ∙ 62𝑛𝑛�������
𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑 𝑠𝑠𝑠𝑠 17

+ 17 ∙ 19𝑛𝑛�����
𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑 𝑠𝑠𝑠𝑠 17

 

 

đ) 11|30𝑛𝑛 + 4𝑛𝑛 ∙ (3𝑛𝑛 − 2𝑛𝑛) − 1 

1) 𝑎𝑎0 = 300 + 40 ∙ (30 − 20) − 1 = 1 + 1 ∙ 0 − 1 = 1 − 1 = 0 

11|30𝑛𝑛 + 4𝑛𝑛 ∙ (3𝑛𝑛 − 2𝑛𝑛) − 1    (𝑇𝑇) 

2) 11|30𝑛𝑛+1 + 4𝑛𝑛+1 ∙ (3𝑛𝑛+1 − 2𝑛𝑛+1) − 1  

30 ∙ 30𝑛𝑛 + 4 ∙ 4𝑛𝑛 ∙ (3 ∙ 3𝑛𝑛 − 2 ∙ 2𝑛𝑛) − 1 = 30 ∙ 30𝑛𝑛 + 4 ∙ 4𝑛𝑛 ∙ 3 ∙ 3𝑛𝑛 − 4 ∙ 4𝑛𝑛 ∙ 2 ∙ 2𝑛𝑛 − 1 = 

= 30 ∙ 30𝑛𝑛 + 12 ∙ 4𝑛𝑛 ∙ 3𝑛𝑛 − 8 ∙ 4𝑛𝑛 ∙ 2𝑛𝑛 − 1 = 30 ∙ 30𝑛𝑛 + 8 ∙ 4𝑛𝑛 ∙ (3𝑛𝑛 − 2𝑛𝑛) + 4 ∙ 4𝑛𝑛 ∙ 3𝑛𝑛 − 1 = 

= (30𝑛𝑛 + 4𝑛𝑛 ∙ (3𝑛𝑛 − 2𝑛𝑛) − 1)�����������������
𝑎𝑎𝑎𝑎

+ 29 ∙ 30𝑛𝑛 + 7 ∙ 4𝑛𝑛 ∙ (3𝑛𝑛 − 2𝑛𝑛) + 4 ∙ 12𝑛𝑛�������������������������
?

 

*)  11|29 ∙ 30𝑛𝑛 + 7 ∙ 4𝑛𝑛 ∙ (3𝑛𝑛 − 2𝑛𝑛) + 4 ∙ 12𝑛𝑛 

1) 𝑎𝑎0 = 29 ∙ 1 + 7 ∙ 1 ∙ 0 + 4 ∙ 1 = 29 + 4 = 33 

11|29 ∙ 30𝑛𝑛 + 7 ∙ 4𝑛𝑛 ∙ (3𝑛𝑛 − 2𝑛𝑛) + 4 ∙ 12𝑛𝑛    (𝑇𝑇) 

2) 11|29 ∙ 30(𝑛𝑛+1) + 7 ∙ 4(𝑛𝑛+1) ∙ �3(𝑛𝑛+1) − 2(𝑛𝑛+1)� + 4 ∙ 12(𝑛𝑛+1) 



29 ∙ 30 ∙ 30𝑛𝑛 + 7 ∙ 4 ∙ 4𝑛𝑛 ∙ (3𝑛𝑛 ∙ 3 − 2𝑛𝑛 ∙ 2) + 4 ∙ 12 ∙ 12𝑛𝑛 = 

= 30 ∙ 29 ∙ 30𝑛𝑛 + 7 ∙ 4 ∙ 4𝑛𝑛 ∙ 3 ∙ 3𝑛𝑛 − 7 ∙ 4 ∙ 4𝑛𝑛 ∙ 2 ∙ 2𝑛𝑛 + 12 ∙ 4 ∙ 12𝑛𝑛 = 

= 30 ∙ 29 ∙ 30𝑛𝑛 + 8 ∙ �7 ∙ 4𝑛𝑛 ∙ (3𝑛𝑛 − 2𝑛𝑛)� + 96 ∙ 4 ∙ 12𝑛𝑛 = 

= 8 ∙ (29 ∙ 30𝑛𝑛 + 7 ∙ 4𝑛𝑛 ∙ (3𝑛𝑛 − 2𝑛𝑛) + 4 ∙ 12𝑛𝑛)���������������������������
𝑎𝑎𝑎𝑎

+ 22 ∙ 29 ∙ 30𝑛𝑛���������
𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑 𝑠𝑠𝑠𝑠 11 

+ 88 ∙ 4 ∙ 12𝑛𝑛�������
𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑 𝑠𝑠𝑠𝑠 11

 

 

 


